Quiz Answers CUBS

2 p S 5
£ S O c o )
& n O o = [T = Q
Q ~ e 2 c c T ® S0
3 g 2 0 = Q Eg o S E 25
& o £ O] S0 RS © o ? 25
.= = 5= o ) Q S
) o> ] SR o c 3} 2 Logs ©3
o) o = &) (SR <D o2 © T o o =
a L & %) T & n = DR = nEa <s
Question 1 c a a b b a b a Cc
Question 2 a a b a a c c a, c b
Question 3 b a C a a b b C a
Question 4 b b b c b c c Check notes c
Question 5 c a b c b a a Check notes a
Question 6 c b b a b b c Check notes b
Question 7 b b a C a a a
Question 8 a a b b b c b
Question 9 a a c b
Question10 | b b C
Question11 | c
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Labels, signs & symbols

V

Vegetarian

V“ o
Ny \
Tumble dry Tidyman Recycle

® @

Flammable

No cycling order

Roundabout warning

Fairtrade




